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09MB6Y 1:
03M390 (0009000 dmIM MoEbgmd yzgmo (a, b, c) Ldgymo, GMIMobmgobog bodotmmemoobos
39000930 HOMMO:
al+ b! = c!!
()N =2-4-..-2k, Ck+DII=1-3-..-(2k+1))
09MBJ6Y 2:

03m89m f:Q —» R o g: Q » R g3nbd30900b yg9emo 6yz0emo, bmdgmmomgobog hmemmdgdo
f+y)=f)-fO)+90) - 90
gx+y) =fx) g+ 9 fF)+9x) - 9g»)
BOTOMMEM0D0O YMZgeMo MrVEOMbOMMO x o ¥ MoEbggdolmgol.

(Q BEoMmbY® 0365000 bodtogmgs, beaemm R - boGIom Hopbsms bodtogemy )

03(MBY6I 3:

dmE9dnemos  0dmBbgdogmo  ABCD  mmbgymbgo, Gmdgemdos AC > BD. 93 mobggmbgool
bOdGOHYT0 9PNV 0bgmo M s N Bghhoemgdo, md ABM o CDN Lo93nmbgrgdo hmemaggtod
0 MD o NA 3mbo3g9mgon 339090, dglododobo, AB o CD BMxggdl. obggy, 0303y Lodtbygdo
090700 0bgmo P o Q bghphoemgdo, Gmd ADP s BCQ Lod3nmbggon (mmaggtos, dogkod o0
d90mbgggodo PB oo QA dmbo3ggmgdo o6 339090, dgbodedobo, AD o BC 50339900.

009(h3039m, M3 MN = AC + BD 35306 oo dbmemmeo 30d0b, hmids PQ = AC — BD.

BIG0L bd63HID03Md: 3 LOIMO.
000MITXC0 43MBO6S BOLOIBS 3d3LNFI3 7 JIVLN0.



